@__‘ Week 1 Answer Key

Monday
1) Sarah was preparing for a marathon. In the morning she jogged 904 meters, in the
afternoon she jogged another 271 meters and that night she jogged 443 [meters. How

many meters did she jog total? q 04 WA BTN N5
T30 Yo «wﬁ Y43
11775 61 %
2) Find the value of P. 3) Use the numberline to round 6,229 to
687 +P =960 the nearest ten.

SETA
Qo-6E1= P 2'5, 60
rewride 960 as.- L9 |

; \al L
lower halg Upper hat4
5) Round 338 to the nearest hundred. A2 L50 So mund down

‘o 200,

6) Sarah was reading a book with 84 chapters. If each chapter was 56 pages, which
expression shows about the length of the book"

A. 90 x 50 B. 80 x 50 /C 80><60\ D. 90 x 60
\ . \ o L
Each" 15 a DF("i I "CT GIEESE o mo (Pl
3 ‘&é v JO b A e i
7) 4 x80= 320 8) Identify the type of shape shown.
Ijl \” Q = 4 SO
\a g \e
9) Identify the type of shape shown. 10) Is the shape shown regular or

T aveqolar Shape

Answers
o
o
1. 1,618 =
w
T
2. 273 i~
@
o
3. 6,230 =
o
=
4. 700 =
o
o
5. 300 =
w
<
6. C =
o
o
7. 320 &
w
=%
8. triangle
(8]
2,
9. decagon
(98]
=,
10. irregular
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@_L\Neek 1

Answer Key

Tuesday Answers
1) Express the groups shown as a multiplication problem with answer. e
OOO OOO L 2x9=18 =
ool [oo Cf >{ A = 15 g
OOl |00 3, 20 =
00l o g
==
3. 3 -~
(8]
2
2) Use the numberline to solve: 4. 10x2=20 =
4x5= 30 S
5x 4= -] 5 45 Es
g
6. Ox4=36 *+
&
3) How many groups of 4 can you make  4) Rewrite as a multiplication problem 10 8
W1L‘1h,e 12 shapes below? R with answer. 7. 2y
~ w W ~ o
Q Q "@;r.@___,(;} &Q Q__“%7 e, gl g ( Y ) ) “ A 8 8 g’\
ar U A X — & U .
* % ]
gl g N . ~
xx O rOWS ot <) = > 10 -
T 2
: i 2 K) 10. 9 «
ww
5) Debby was buying DVDs of her favorite tv se1ies<‘.Each ;eason had five DVDs. If
she bought nine seasons how many DVDs did she buy total‘? s
j L \ : i ) D\ ~, s q <o < OV ~.‘_:'_ N . i‘g L D\f D)
+Tells us o wold Ju )\ J :) |, IEEAEEEE
6) Fill in the missing fact from the fact 7) 80=8x7 \‘) | Sid Al gf
family. < vesrt G ! ’ \} \ L,\ Nnombper 441 R ¥R,
36 +-9=4 \. ) O e R ™ 1 um be e
_— L l\J ) | T . AV IRVAAAR ¥ =\
4x9=36 UQ L -
36+-4=9 S\ enn oON The éna
9 L - :
' 2X10=FD (px10=bo Tx¢=40
Ixi0=70 Sxlo=%5 3xIp=30
8) Find a number that fills in both blanks. 9) 80+ 8 = 10
40+5=
¥ x5=40 R o —
(6o oo \ RSt P
; § - . " | ’ . by - .‘ i & & g
\{5 6O® | \ee 20/\P%2% p|]\asro/ ? X KO s o f
10) Edward is helping to put away books 1If he has fifty- four books to put away and ®
each\,shelf can hold six books how many shelves will he need? \r{ ~‘; g p = (7
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@ﬁ Week 1

Answer Key
Wednesday l I \f-ﬂe ud e o S w
1 9 2) 488 3) 194 0O + o + 4
x9 +307 - 26 O l‘f, o 1. 81
81 855 168 —— o ko
c
100 + (Ou - ¥ 2. 855 %
| b
4) 50-10= 5 8 3, 168
& R P S 1 Iy ( . &
lo dwde a Nomber b Y 10, take ofx the last 0|, 5 =
5) Robin had 8 pages of math homework and 2 pages of reading homework. If each §
page had 4 problems on it, how many plOblCmS did she have to complete total? 5. 40 -
f)%f I Bowd wan Y ’E a0 es 4otal? P 2 = 10 . &
‘?)é,i H'OLO manuy PL\M b \” W S lﬂ‘ [l 7 'g’l i O X i—'f L 7 ) 6. 700 =
6) Round 685 to the nearest hundred.
: . . - v S Y
L85 15 behweenn LoD and 700 Since 85750 7. 7
( O\Jmcl, UpP 10 700 . w
am \I_I‘\IHI H }'\H\H 1 8. Slb é
e = it 5
H T HH g 9 4:38
T ] T ) »
] ] T o s
. 2:10 =
What digit is in the tens place in the number above? o den S L{ umT g
‘ ’hqu sand | humf“gd*"
9) What time is shown? The. i H A { - Llw
e htle Nand 1Is ATTer
1 bt not- et af

What is the weight (in pounds)
of the block?

10) Victor spent 1 hour and 20 minutes looking for his missing cat. If he finally found
it at 3:30 what time did was it when he originally started looking?

) ,:::)‘ Vs AN V)
5 NDLCS ot VT

- ) houv 20 min s

\E-'\ ~ ] =y T2V '. Ta e i /."
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@_‘ Week 1

Answer Key

Thursday
1) Write the shaded amount as a fraction ~ 2) # B G | -
of the whole. i L 13/ i

Which letter best shows /,?

’:; C | \ L( \f‘) |
3 . , N ‘ Fa 4) Using the number lines shown what is
“ | i 1 Eg
0 1 2 3 1 the equwal;*nt fractlon to 6°
4 4 * 0 / /fa / ' ) _: ]-Q’E:jléj
What is the location of A (written as a At—] "
fraction)? 0 1 Q - =2
L 1 I ] 2
I | -z 2z 2 b -
Vs 13 7>
5) 1/3 - 2 6) Write 7 as a fraction with 5 in the
2 denominator.
7)
:
3 A 5 é&'
A, =B — B —& — _’f\
575 473 —
C. 'L < "g_ D. i < i —rt ) ) 4
4 3 L2 / pizzas Cor 1N
(. i sl
) ':r) l(\C!‘ ‘C)a'_/' \
. \ _E.r‘::}
\ p1Z P =
o
pr2ze are. \O
5
3%
— e —

Answers

3
L /s

Jug

o
@]

(¥
| 3]
PN

ELY
[#%]
N

wn
(]
-

(o))
brs
s

Zpwig | ppwig | gpwg ' perug | ogrug | qgyug | egrug | qzyug | ezyug

f A
8 1
g 8
10 C
:v!’rj : { :’“ } Y-
== = I
1 s _ 0
. X,,Z—' =
I S D
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@_, Thursday Week 1 continued

Answer Key

8) Use the graph below to answer the question: How many fewer people liked Link than

liked Donkey Kong?

o 10

|

'O

o

L1

Number of Peopl
O— P UhN-JC0

1
|
T

Link Kirby

ii"’n - Cf = i
LNy | 13

9 ~ w
) X X Il
X X X -
XX X X &
X X X X X g
fav’

=
12345CE
o

Days -

What is the combined amount of fish
caught on day 3 and on day 2?

5+25=0

Donkey Sonic
Kong
Character

10)
< 2
JQ\‘
Flour in a pan of brownies / )
A. 16 Liters [ |
B. 3 Liters | 11|
C. 0.5 Liters L]
D. 10 Milliliters o |
- -i ]
Ao B SO A
) J ) LJ : v \DO A.l“”l \‘t ¢
% \ \THEA -
[ < <1 ana

' =  Ove \[lﬁ\r‘tj T U
&
o LA
1} —~ i ‘l 'ﬁ A :)i,.,'(“_“l \
medicine ot 15 oo little !
medicine [hat—1s 0O ,
T Yhe onsuxlv S
= | "J‘p ~c
o ) LiTEA S
~ L
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b\)Jr th’Ub oont remember  wWhat chq l’S

’

Here 1s an  easy way o coont vp o

‘e answer

Make &8 dotrs bo oo g ody

Count The dots and WeHe the answer dowv)

3
Nowd k*eep Coom—{mﬂ S—J—a(ﬁmj

NuMber~ Gi):QJ\\}\’L\\Bi\L{L\S

Wit Fhe nex

o
Keep going Vnhl 9oV have 4 moltiples ef
g WCitten AoOUON -

g, M, A4, AR, 400 48, Yo y 6, TR

Fx9 =72
Trom “is  list you con a\se el ’ﬂf\a’j‘
Fxi= 8 g‘xg;\l@ gx3=au Bx4=3

ey6 =4  §xb =18 §x 725 8gxg= bl




@_l Week 1

Answer Key

Friday

1) 'gbg 2) 9,878
+ 46 - 7
944 9,871

3) If5x1=5,
then50x 1= 30

4) Use the numberline to solve.

10+2=% , 0

I I I I 1 I 1 1 | I I |
I T T T T I T T T T I L] T 1 1 |
5) ” z TI‘ 6) Write the shaded amount as a fraction
% X % = of the whole.
X X X X @ % P R
XK K ER e !i;_-}c! (S
~ =] \ 1 {
1 2345 °:°r | 15 3
Days wt
Were more fish caught on day 3 or day l N
- R Pl £ .
5 y4nb) N TLAVAA Lo b} o 1 w0l -]
’ j /ft t A \' !n\‘l 'J | ‘H(’, /

7) 8) Find the rule the function machine is

using.

In | 26 | 32 | 51 | 56 | 62
Out| 12 | 18 | 37 | 42 | 48
A. Subtract 16
B. Add 14
C. Subtract 14
D. Subtract 13

Bowling Ball
A. 200 grams
C. 50 kilograms

B. 7 kilograms
D. 90 kilograms

\\\ETaW6ch\ﬁ “10 qans Measorg weadit
9) 8 10) 7 > G %ﬂﬂ CMﬂﬂ%ﬁ YO ket lodams
R L/
- = L a .
",\.  ; ros LH SN 1) ”"i' - < i /
A pece. oF PQW% wWeguIs | gam .
, > J

e |~ v i
| 5 PN i O \ .
LNAT S g !

} i

A can c’\ff

e p - )
/OO a g b ke o
£ OO0 qiaws \ YAT 1S

«J , -
o bWling ball
J

1. 944

Answers

£qug

3, 9,871

3, 50

Teog

4, 5

[eog

()]
—
m\

1Jug * ypuag

Geog ' gpuu¢

10. 35

' 'l -
o o N L == B e
AWV ' ) [ = \ Do ~
1
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@ﬁ Week 2

Answer Key

Monday
1) Express the groups shown as a multiplication problem with answer.

ol o] vl ol o] 2
ol vl ol vl o

2) Use the numberline to solve:

3)(4: V—W?\
! y ' H | ! ! H I 1 H y | I
dx3= Ao A TA T T AL AT T

3) How many groups of 3 can you make  4) Rewrite as a multiplication problem
with the 6 shapes below? with answer.
~ W 000000
@_\_0_,97@,_9_9_/ 0000000
000000
000000
000000

e gt A ' i . .
o s Ok |
-~ =1 L e
P \ | ] \
)} ) e == ~rret”
~d ]

5) For Paige's birthday three of her friends gave her four dollars. How much money

did she get for her birthday? _ 7 [ 1), U -
&, Q 4y Y 2 B B A B
6) Fill in the missing fact from the fact T dx4=1
family. — e
8x9=72 = NEES Neo v i
9X&=T2
?
8) Find a number that fills in both blanks. 9) 60+ 10 = 6
14+2= A

X2=].4 VPV IV e

10) A vase can hold five flowers. If you had thirty-five flowers, how many vases would
you need?

10.

Answers
5x3=15 et
g
12 =
g
3 )
S
5x7=38% e
g
12 o
g
72+-9=8 *
g
16 e
{5)
~ 5
g
6 )
g
7 [os]
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%—‘ Week 2

Answer Key

Tuesday kIR el : Gu Answers
1) 9 2) 416 3) 240 O 2800 O W€
X6 +303 - 2 Y“"horrow' & tenn |1 54
54 719 238 (. ‘ 3  Aadp ., ¥y
1o i. g
2. 719 3
"
49 10+-1= 10 3. 238
A O é’
S r} ré
- - o 4 10 =
5) Maria was playing a video game where she scores 4 points for each treasure she §
finds. If she found 4 treasures on the ﬁl st level and 2 on the second, what would her 5 24 «
score be? 4 p ONe | D rManyd  TTeasures : /+/ (,4 g
r:?_‘\‘“\_c s | “ S T i TR AR FLVAL Ny ik - ) ( ; £ - yi { ! 6 400 =
— :)-‘1 f’ E’LJ‘-‘JE_;,\’ / *:_.)\.- \J LR S Al -‘ l{ « 17 3 } ¥ () >< L ) |
7 7
) and ’l‘t ! ¢ LéJ
" A\ ) / } 8. 17 oz i~
7) = Lty LIl ]l 1Y
* | + i § o " 12:43
i uE EE oo L)
l - T N =3
‘u & - 1 10, 2:20 =
What digit is in the hundreds place in the number above? ' = un
--\:__“_‘.'g:"; Qo { ‘(\\'ll \{!\| e ! J
8) 9) What time is shown? The {
| II
TqJ « The
|
VN ote é ~
If the block shown were 6 NiNVIE e
ounces heavier, how much s TS
would it weigh? a )
Il + (o = L
VY \ AN ’ ]
10) Maria took a train from her house to the state capitol. The train ride lasted 3 hours h € U
and 15 minutes. If Maria arrived at 5:35, what time did her train leave? Ay
L: hours - (hl Miny bess s
= FPORE 2 b f
S - r—_~ . 3 ~ ¢ -
:i Nour = } N n Wito :
7y O ’
X -
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@_‘ Week 2

Answer Key

Wednesday

1) Write the shaded amount as a fraction

of the whole.

3)| 2
0 1

|
|
9
4 4

What is the location of A (written as a

fraction)?

JUg
[ .

2) A B C D
H—o0—0—"F—20 lo—
0 l 1 2 1
3 2 3

Which letter best shows 2/3,‘?

4) Using the number lines shown, what is

’ : 1
the equivalent fraction to /4?

0 Yy 1

L = = L 1 1

I T T T 1
l

0 ‘ 1

| I L 1 (R - |

T —r—r1

) Write 45/9 as a whole number.

T
P i N
£ N \
y N
A y .
- . }
i A i T | J \ ¥ )
o 7"
N |
o |
e
\ I_,-ﬁ_ ‘| y \‘-
| [ \N# 3
3 \ | P !
x ) 7 ‘
\ ]
i P
o) 7
\% Z7
S C;'
£
|
{
I

1
L /s

Answers

[yug

&)
%

(8]
P, oy

.Y
[3%]
e

wn
ooy

Zpuig ' ppuig | gpuig | pEyug | ogyug | qeIug | egrug | qzyug | ezyug

6 5
7 A
g 4
9 0
10. B
|
o ! J { 7..’__,_'
‘ \ [ ;" )

]
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@—‘ Wednesday Week 2 continued Answer Key

8) Use the graph below to answer the question: How many more votes did Spy Kids
receive than Cars?

g
g8 =
=) ] s
> 6] =
35 T /
£ —T—] ' E 9-5-9
2 3 5 -
STl - =] —
0
Ice Toy Cars Spy
Age Story Kids
Movie Title
X X
9) < % 10)
>
X X X X &
XX R oW ¥
12345 E
=g Gallon of Milk
Days - :
A. 1 Liters
How many days were more than 7 fish B. 3.75 Liters
caught? C. 50 Milliliters
R P D. 750 Milliliters
‘\j L} ‘\\,i' f__l. 1 " l
'L ers pv oLV MeasLYeMeNTTs
Eosci s ) "\T\, a \F‘s’,’.'% € ‘L‘fh\".
| millilyler = | tear drop
50 millihters = -
_;f[ YO b ; A O
’r:-l / ?3 i (’ ch 2
/) - ¢
A5
i’;F /Y 2 “"/‘{ l'E.(M:) v
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Han L 1AD
Week 2 100 + 1OV

Answer Key

Thursday 12 Answers
1) 405 2) ’5'3’7 3) If2x2=4, =
+181 I8 then20x2=_ 40 " 586 Z
586 257
2. 257
(%]
2
4) Use the numberline to solve. 3 40 -
20 - 10 l I 1 | 1 1 1 1 1 I 1 1 1 1 0 1 1 1 I I 1 1 1 1 8
I I I { T I T T T T ’ T T T I T T L] 1 I T T T T l T T — 4 2 =
5 day 3 S
5) X 2 6) Write the shaded amount as a fraction o
X X I 3 =
% 5 x = of the whole. 6 /8 &
X X X X & j L
X X X X X o d' A " 5
= 2 Sk £
L2345 g V‘v b | " v
Days = P g
g A <
What day were the greatest number of
fish caught?
9 56
: . 4
7) 8) Find the rule the function machine is 1 0
using. ;
In | 20 | 24 | 32 | 35 | 49 2 ol Qt 7 Y
Out| 24 | 28 | 36 | 39 | 53 >u L L
Monitor A.Add4 2 du = } 2
A.8grams  B. 500 kilograms B.Add1 ! N
C. 8 kilograms D. 500 grams C. Add 7 o dF T 2
D. Subtract 7 wall u - o2
N -
9) 8 10) 8 :
56 40 2 o -
Y a ET ey
(& Ak_“l T = , ) )
. Garams 18 aC ]«'3"/“\ (\F/
i / (
Lilograms 15 a horge !
J

w.CommonCoreSheets.com



@j Week 2

Answer Key

Friday
1) Ned collected 3 rocks from his garden. The first was 547 grams, the second was
853 grams and the last was 323 grams. What is the cornbmed weight (in grams) of

all three rocks? LSU 1 4+ a: =2 ",
s L
2) Find the value of Z. | _VL I~ 3) Use the numberline to round 8,983 to
826=347+Z _ dXo the nearest ten. |
3HT 8,980 | 8,990
”;{“C‘f’“ S BTG SET . T
! ' '\C"_ﬂﬁ

5) Round 44,751 to the nearest ten.
-ua 1750 and
S \Y\"‘ i 3 ) MouUr L .l!f--\-‘} \_,;} :"_r L)
6) Ned's school was collectm0 cans for 1ecychn0 They had 33 bags with 98 cans inside
each-bag-Which expression show about how many cans they collected?

A.30x100 ) B. 40 % 100 C.30 %90 D. 40 x 90
\ L c %5 “Ci :}J o {- f
7 40 x 6= 240 8) Identify the type of shape shown.
A G ‘
IANO —
**ﬁ N [a /
9) Identify the type of shape shown 10) Is the shape shown regular or
Seven sdes - heptadgor  irregular? ; ;s ,
7o A\ Srs and
¥ i I/ = '&
e Jai

Answers

1,723

479

8,980

5,700

44,750

A

240

nonagon

heptagon

regular

www.CommonCoreSheets.com
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@—‘ Week 3 Answer Key

Monday .
1) 9 2) 749 3) 86
x4 +103 -22
36 852 64
H ; /f\ Ny NUM pexr a\ ‘\/‘mﬂ"f
4 +1= 2 . L gl ; = 2 - \ /

5) At George's Restaurant a group with 7 adults and 3 children came in to eat. If each
mcal cost 4 dollars, how much was the bill?

v 4 )

HOLM 44 \(’H\IJ \JCr. ol '-; v [u’ 3= E‘J

5%@,;)700@ » Howd wmodAa pone L( 1 oxY =40
6) Round 7,874 to the nearest hundred.

bl s L] N A A [ 0D, Swned
1 (7Y IS oSTUEC U Iy 8 DO ana I o )+ DN
( 74 ?EJ 0 ¥ ooyl :.j_P D) E,lc.f'lil(_f_f)
Hl_t‘l\‘l‘l\ T T T I T
] —
Hif H -
=i % - a0
a - a 0 . ;
4 / ~
- UniTsS (0nES)

| ~

YAl
F\Jri

8)

What is the weight (in ounces)
of the block?

10) George finished jogging at 5:25. If he had been jogging for 1 hour and 15 minutes,
what time was it when he started?

Answers
1. 36
) 852 2
3 64
g
4, 2 ~
g
3 490 o
£ 7,900 =
7 4
3 12 oz &
9. 5:48
g
10. 4:10 =

{ .~
LY
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78N |
Week 3 [z |

Answer Key

Tuesday gl s * 1 ED >
: s A (B | C D
1) Write the shaded amount as a fraction  2) 11 sl 11 5
of the whole. " : 1 2 atils & 7 |
S sShaded T 5 s\2/7 5 %
TN . ' 4
g dodal Which letter best shows /g?
| S L i

3) ! A | 4) Using the number lines shown, what is

0
1 the equivalent fraction to /;?

6 1 2 3 4 s
6 6 6 6 6 0 1
What is the location of A (written as a ] -
fraction)? 0 1
- : |
9
5) 1/j = ‘% 6) Write 10 as a fraction with 5 in the
- ) denominator.
7
CJ ¥ \ )\ \
| _‘\!
5 5 3 1 yWONec
A,— — By €
3 1 5 5 Y. :
2 4 3 1 A ,
C, — < — D, == s —
3 1 5 5

8) Use the graph below to answer the question: How many issues of Hulk were sold?
10

Issues Sold
O ON-QCOND

Hulk Superman Iron Thor
Man
Name of Comic Series

Answers

_
af

Jug

ro
ve

A

W
g
b

CPWIE © yPUIE © EPUIC " pLJUE " OgJue ~ qgjug " egjug " qug * egyug

50
6. 2
. D
4 5
g day 4
10 D
e YDV i
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— Tuesday Week 3 continued Answer Key

9) 10) | wiillil iter = | fear dvo o

o williliters = [Snal) So

Paint in a can l LH‘&I{’—"; 1000 v i L ters
A. 20 Milliliters a n 5 d/i'(}g\ {ask-

XX
ysneo ysyy | = x

What day were the greatest number of B. 400 Milliliters
fish caught? C. 1 Liter

A Ay —
D. 3.75 Liters [ O 19 Liters =| 6—6{\1’0\0

| g of mulic O
\ W )

|

7/;/ A nel {)
Each cake nas b5 DS

3@@ lhave SO [fif‘éfﬂ )

Each plece =1 <0 0 P\écﬁs = §E
5 5
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@—LWeek 3 o6 = “fo +

Answer Key

Wednesday 9,
1) 570 2) NS5
$221 - 17
791 88

4) Use the numberline to solve.

3) If4x8=32,
then 40 x 8 =

320

X x
>) X X I
X X X =
X X X X &
X X ¥ X
12345 c%i
Days -
How many days were more than 4 fish
caught?
7)
Shovel
A. 1 gram B. 5 kilograms
C. 30 kilograms ~ D. 10 grams
9 8 10) 7
x1 x2
8 14

6) Write the shaded amount as a fraction
of the whole.

8) Find the rule the function machine is
using.

In | 18 | 22 | 31 | 34 | 52

Out| 11 | 15 | 24 | 27 | 45

Y S

B. Subtract 7 B T

C. Subtract 4 e ? -

3 U

,,,,,,,

D. Subtract 9 <‘-‘}, {+ ) 1= £
2. | L
— ;.» L_[f )
\ f:l \\ ‘(;:. 1 Y \l [ .:\\I, 1I‘ i d ¢
o |
L v ]
{\/\} ‘:'l.l. ' ¥ /N-\ \.%,,:\'\,\sj ¥ ;( £
[ ‘\4 ¥l e L
< | ) {Y |
- ) :
/;‘) ' ¢ ] g
o 3 ) ¢ { i

Answers
)
o
1 791 =
2 88
(5]
2
3 320 =
('S ]
2
4 4 ~
L
=
5 1 =
5 o
=
6 /4
s
=
7 B &
(OS]
&
8 B b
9 8
10, 14

'S
P’J% i ‘:J\ Er
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@_‘ Week 3 Answer Key

Thursday
1) At the bank, a customer turned in 516 dimes, 554 nickels and 662 quarters. What is
the total number of coins the customer turned in?

51, + 554 + bl Q

2) Find the value of N.¢ 3) Use the numberline to round 268 to the

365 + N = 957 ::’;:ri - nearest ten.
9 260 270
]

i ~~ .~ .
5) Round 334 to the nearest ten. 35% IS5 b@T?LUOEE vy BD{J & ‘/U O
A< So so rovwd down v oo

6) A store had 76 boxes of Christmas lights with 93 lights in each box. Which
expression shows about how many lights th@;je.werg;gifl_l?
A.70 %90 B. 70 x 100 QC\.80><9O ) D. 80 x 100

To% IO a32 90

T 5%20= 100 8) Identify the type of shape shown.
‘.7;; l
b5xQ =10 , .
5x 20 = |00
%
5 —

9) Identify the type of shape shown., 10) Is the shape shown regular or
irregular?

10.

Answers
W
1,732 S
L
592 5
270 =
900 A
L
330 2
. =
100 33
(5]
L

heptagon
g

octagon
regular -

=

£

www.CommonCoreSheets.com
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Answer Key

1) Express the groups shown as a multiplication problem with answer.

Friday
AN A [A] [A] A
AN AL A [A] A
Al A [A] |A] |A

JAN 2,/
A DX o = H;DD

A

2) Use the numberline to solve:

4x3= ?/Ww_\
L I I I | H I I I L I 1 ! 1
N NG N SULI A

3) How many groups of 2 can you make
with the 40 shapes below?

o f<>\

£+ -
; SYO\/
\ Of <>;’

”<><><><><><><><>
A X0zt

w<> R <> <> f<>£<> <>*«;
o*‘<> &\ <> Lolerl o AOA
~-x§'<> AN <> Sy <>'-=;

4) Rewrite as a multiplication problem
with answer.
AVAVAVEY)
VAVEAVAVEY)
VAVEVEAVEY)
WEVAVEVEY) B b caded
v v 0 v q? "-‘“I- ..! é l‘ o ,ﬁ E- 3
\VAAVEVEVAV/

VAV EVEVEV/ Cj/
VAV RV VY]
VAV EVEVEAV]

— ~
Ol rouw)s Ok

=
)

el [
X b ! -':.&5

5) A pet store had two cages of snakes with six snakes in each cage. How many snakes

did the pet store have total? ; %/1:? o~
L%l = | 2 &
== ’_.;J
6) Fill in the missing fact from the fact D ?1=32=8 —— T
family. .2
36+4=9 1 x%=37
4x9=36
36 +9=4
?

8) Find a number that fills in both blanks.
18+9=
x9 =18

9) 40+4= 10

x 9-

10) Emily's dad was taking everyone out to eat for her birthday. He paid eighteen
dollars for everyone. If each meal cost nine bucks, how many people went?

L]

www.CommonCoreSheets.com

Answers
[¥'S)
2
1. 6x3=18 -
(W8]
8
3, 12 =
('S )
8
- 20 =
2
(@]
=
4. O x5=45 et
[(F'S]
2
5 12 =
98]
=
6. 9x4=36 *
g
7 4 =
=
8 2 S
(OS]
8
9 10 =)
(%]
Q
2
10. 2 o
(R
vy 2N
(Oniy4 &«
J
Bl
et



@_' Week 4

Answer Key

Monday

1) Write the shaded amount as a fraction 2) #* B C D L .
of the whole. «—0 O V 7
0 _é. 1

Which letter best shows /}?

3)

4) Using the number lines shown, what is

E

o ==

v

| | |

1 T 1 . ; 2

1 5 6 7 the equivalent fraction to /,?
8§ 8§ 38 0 1 -

2.
What is the location of A (written as a I - . T | "q

w0l

0 |ty ——
w0 |t —f

8

fraction)?
0 I gy
| e P L e I N NS N | i |
| L B S — — | —
3

6) Write 3 as a fraction with 5 in the

5 4
) /4 .

denominator.

C A DAsLET Al
’ %

TeqamN na S ~J Q) LA

A !
A elayer 1S5 — ofF

i

i J E‘)

POELINT N S )
10 10 3 1 _ 5
C i > L D i < L Tle\ VY { = =
-7 9 T 0 5
,l "\1 ,’P . -}r ‘
rrrs N {
CUlvvy oz
=
\]  A) ,
2, k{’ e O n

2
L /s

Answers

[Jug

@)

(oS
=y
et

I~
b
e

wn
(8]
o

Zpuwg | ppug | gpug | pgyug | ogyug ' qerug | egyug | qzyug | egyug

15
6. 5
7 A
8 11
9 3
10. D

.
f
~y 4
N =l "
I '~ @ % 1S
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@_L Monday Week 4 continued

Answer Key

8) Use the graph below to answer the question: What is the combined number of

Superman and Batman issues sold?

10
g ]
= 7
w 6 ; e
§ i . | .
g 3 (v =
11 | —
0
Superman Batman X-Men Iron
Man
Name of Comic Series _
S+ = |l
X X
9) o 1 10)
X X X =
X X X X 55_"
X X X X X 5
12345 £ _
= Water for a house plant 7 et lidoyz = | =i A
Days 2 . L. ¥ efs = | =.,.tE_J
A. 3 liters
How many fish were caught on day 1? B. 2 milliliters :;} i ) der War %“@"f
C. 80 lters - | o A
OFT 1€

D. 500 milliliters

w.CommonCoreSheets.com
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O + (0 + ||

Answer Key

Tuesday

b

1) 460 2) 771
+179 .2
639 769

4) Use the numberline to solve.

3) If1x2=2,
then10 x2= 20

.o—- 0 7 3
27 N 9 - 1 1 1 1 l 1 1 1l ! 1 ] 1 1 1 1 I 1 1 I 1 I 1 1 1 1 JIO 1 1
T T T T l T T T T T T T I 1 T T T I T T T T I T T
5) o i ﬁ 6) Write the shaded amount as a fraction
X X X —_ of the whole.
H X X K _ca__h
X X X X X g
12345 (g
Days =
What day were the least number of fish
caught?
7 8) Find the rule the function machine is
using.
In | 19 | 24 | 48 | 51 | 55
Out| 10 | 15 | 39 | 42 | 46
Screw Driver A. Add 10
A. 10 grams  B. 13 kilograms B. Subtract 7
C. 1 gram D. 45 grams C. Bulbiragtd
D. Add 9
{ ; ; (-\ A
9) 8 10) 7 | goamn = | prece O pafes
x8 x7 !
64 49 0 aams

W/
&
A p\ﬂ'\)f’ \¢ B

e ﬁ:: XLP%L fi‘JtJ p/ adqi2

Answers
Lo
e
1. 639 3
7 769
(8]
2
3 20 =
(OS]
2
4 3 -
W
5 day 5 S
4 w
: E,
6 /s
o
7 D ]
’l_i.l
g
8 C ©
9 64
10. 49

www.CommonCoreSheets.com



@ﬁ Week 4 Answer Key

Wednesday
1) For lunch, 511 students selected chocolate milk, 268 selected strawberry milk and
544 selected regular milk. How many milks were taken total?

N0 L el
5N+ 268 + 94Y

2) Find the value of J. 3) Use the numberline to round 9,115 to
J=651+225 the nearest ten.
N (//C_’ % 9,1]10 L ey 9,1[20
298 ——+—t—t ————1>
& 412 ombde 15 hatfusny
4) Use the numberline to round 725 to the nearest 10.0: A al
700 ( 800

5) Round 34,245 to the nearest hundred. 24 )2 ’:5,__‘; \S "}'MC Y
3 200 avrd 34,300 , Swre 4546,

~ Ny --- - Gl .!! Y
. - ¥ {‘J W ;'_..\d d"\)l,){)‘f\} -io \_.’:’ LI :v_ ) :n;. '
6) An industrial machine can make 65 shirts every minute. Which expression shows

about how many shirts would it have made in 28 minutes?

A. 70 %20 B. 60 % 20 C. 60 % 30 D. 70 x 30
5xTo 28 %%0
7 60x2= 120 8) Identify the tlype of shape shown.

9) Identify the type of shape shown. 10) Is the shape shown regular or
irregular? - :
- ‘] - : ) e ., £
\ ! ‘\(“’ = "g AL o
m | 2qual BUT e
= VA
LJ! CZ‘-" A i ALY !

(§N)
N

9.

10.

Answers
1,323 5
876 &
9,120 2
700 e
34200 2
D 5
ot
120 &
&
octagon
E
pentagon
(8]
5
irregular

w.CommonCoreSheets.com



@_‘ Week 4

Answer Key

Thursday

1) Express the groups shown as a multiplication problem with answer.

)

ool (00
0 |00
o060 |0
g6 OO0

o,
[ <™y
L

—

2) Use the numberline to solve:

Box
7x3=

3) How many groups of § can you make
with the 16 shapes be10w7

(ﬂ'ﬁ A 38 8 B 3 ﬁ g
g4 8 ﬂ’ﬁ al

4) Rewrite as a multiplication problem
with answer.

5) Bianca was buying hand towels for her house. She bought nine packs with each

pack having three towels in it How many towels d1d she buy?

6) Fill in the missing fact from the fact

family.
10x9=90
90+-9=10
9x10=90

?

8) Find a number that fills in both blanks.

54+9=

x 9 =54

G G

7) 64+8=2

9) 6+3=

P —

e

e

i

Voot 00ty

C®v1% “The dois

“+o

e
L)

R

t iw }r;‘ e uu_’) Hés""f”")fi nw’“\

10) For the new school year Blanca s mom bought forty glue sticks. If each class n needs

five glue sticks, how many classes does Bianca have?

www.CommonCoreSheets.com

Answers

5x9=45

21

2

3x2=6

27

20-+-10=9

y 'S

[eog

Teog

ceog ' 7eog

proc | peoc ! grog

9eOE

Qeog¢ ' /rO¢
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minoles oN The Top -

Somehmes  \n
“The minotes ©n

biager Ahan The
5 houls \O mit'/)(.)‘]“fﬁ
— D hoirs S0 minutes

—

We. Can't do e Pmb\em lo—-60 , We
need. o C/\namﬂe one. houc 1Nto 60 wunudes

and  0da “‘henw 4o the miAokes colomn /
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8 IO minutes
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——
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@—L Week 4

Answer Key

www.CommonCoreSheets.com S

%Qew(':\Le

Friday i Answers
1 9 2) 928 3) 1,022 looox O+ (O + (2
ﬂ + 24 - 8 ? 1 63
63 952 1,014 i
Coont—the + 9| 252 >
000000 ¢ nt (oop + Ot O
Your mu bhp fcahon  vac s
’7)JL!12“12'813‘5 * 2 N
5) Bianca was organizing her book case making sure each of the shelves had exactly 4 §
books on it. If she had 2 shelves of mystery books and 5 shelves of picture books, 5. 28 «
how many books did she have total? > TR Ty
Step One: How wiany Shelves| Q+5= + 6 7,630 2
Step Two * How many books?  TTXx 4=29
6) Round 7,632 to the nearest ten. 7. 1
71632 5 betweenr 7,630 and 11640 g
since KRS Noond down . |8 31b N
! :
. Notce. Theyve ave o |9 12:32
. aa l(\UV\dﬁ?C!.S 6 we Pu-l' a 10. 2:20 =
Thosand s dens  uaits  2edo 1 fhe hordreds
at digit 1s 1n the thousands place in the number above’ lace :
PHLr | o2
8) 9) What time is shown? < .
The hovalhand 1s after
12 and. ot fj(f‘}' at 1.
The widute hand S
at 33.
If the block shown were 5 |2 3 Z
pounds lighter, how much
would it weigh? NID p
: - B %@O
F-b=- 4 l.o
|
10) Bianca spent 2 hours and 50 minutes cleaning her room. If it was 5:10 when she - 50
finished, what time was it when she started? :
H hours JO mwvtes | epg nge one
=D hours 50 minvtes | gfthe hows
o LO minude
2  hours 20 minvtes L , :




@ﬂ Week 5 Answer Key

L3qug

JeOg

[rOg

[Jug * ypug

peOg " Tpuwag

Monday Answers
1) 564 2) 53 3) If8x10=280,
+ 10 21 - then 80 x 10=_ 800 | 574
574 32
2 32
4) Use the numberline to solve. g 800
P S 20
i ———=— 4 )
5 2
5) X % 6) Write the shaded amount as a fraction
X X Il 6
. % X x - of the whole. ; 6 S
\ g | :
RLE b snaded
X[X X X X o ocnl—a A
= 8 = :
\T/2 3 45 £ R {)ar‘}"b G
=
Days - B
How many fish were caught on day 1? B
9 40
8) Find the rule the function machine is
10. 24

using.
In | 12 [ 27 | 30 | 34 | 49
Out| 26 | 41 | 44 | 48 | 63

AAddLZ |- ~
oAl 24+ 14=20

C. Subtract 17 Z’] T 4 =14 l

D. Add 17 30+ 14 =YY
et

Moake 3@«3{’ ¥ muolhples

A. 22 kilograms ~ B. 200 grams
C. 100 kilograms  D. 500 grams

9) 8 10)
X5 b . o
20 Fy booyp 0 00/

g1k 1 A4S LHO

‘l 6(‘(;&1/\(‘\ = | P“f;‘:e & pape

| 1a{|©8(?j.mf-‘? & P{nean)lG" .
e oo meaPplzﬂ}

A = y b " les .
A 22 pineapp N = ONe ream o+ fcc(p@f

B = 20 pieces of paper
www.CommonCm’eSheets.com



@ﬁ Week 5

Answer Key

Tuesday

1) In one year a photographer took 848 pictures of animals, 159 pictures of people and

2)

4)

3)

6)

7)

9)

689 pictures of landscapes. How many pictures did he take total?

¥48 + 19Q + (L8

Find the value of A. ;1 3) Use the numberline to round 90 to the
197 =A - 187 l C( r'{ nearest ten.
+

81 S T
389 pSSans RS

Use the numberline to round 644 tp the nearest 100.

Round 55,675 to the nearest hundred. 5 1] 5 IS b E’TJ’UOG e

55600 dnd 55700 . Dwce 15250
roond VP +o  ©5 7700
Tiffany was reading through her favorite book series. Each week she read 82 pages.
Which expression shows about how many pages she would have read through after
25 weeks?

A, 80 x 20 B. 80 %30 C.90 %20 D. 90 = 30
Bax B0 A9% 30
60 x 8 = 480 8) Identify the type of shape shown.

bx8=48
boxT= 430

Identify the type of shape shown. 10) Is the shape shown regular or
irregular? ] \
| All Sides ana
: s andgles are
V= J
> 6«% val

Answers

1,696

384

90

600

55,700

B

480

pentagon

I8¢ " QQUe " [que * 13queg * 13quE © [que T Qiqug | Qiqug

quadrilateral

[5¢

10.

regular

I8¢

www.CommonCoreSheets.com



@_’ Week 5

Answer Key

Wednesday
1) Express the groups shown as a multiplication problem with answer.

00| 00| oo P \
bx3 =18

QO 10O |©O

VAV N VRV N VAV

2) Use the numberline to solve:

! I I 1 | ! ! I ! I 1 | |
gade T g

3) How many groups of 7 can youmake  4) Rewrite as a multiplication problem

with the 21 shapes below? with answer.
T AP QOO0 00000 | e -
wonw o g o\ G60000000 D DWS

ﬁﬁﬁ%ﬂrfrﬂri}ﬁﬁ 000000000
. N i 000000000

[aReRoReRoReRoRORG;
CO0000O00
[eReReRoRORORCRO RS

000000000 (ﬂfMﬁﬁﬁWﬁ

000000000 \qu:"ﬁo

CO0CCOCOC

in @oad. How many towels did they wash total?

~ < C e =7
Remember "€ach " wmeans vval%gJB axcle Tl

6) Fill in the missing fact from the fact 7 +2=7 2 G ;
family. 7 X C) = ‘L{
10 x 6 =60 s Y =
60+ 6= 10 so lY=—2a="
6 x 10=60
2
8) Find a number that fills in both blanks. 9) 48 + 8 = 6
10+5=

x5=10

ol [ el
gLy

10) Haley uploaded twelve pics to Facebook. If she put the pics into four albums with
the same number of photos in each album, how many photos were in each album?

é /
[ v

o

Answers
g
3x6=18 -
g
8 —
&
3 )
g
10x9=9) 5
g
72 b
60-10=6 =
g
14 -
g
p) 5
cl_s.)
& &
g
3 [o%]

www.CommonCoreSheets.com



@—lw’eek 5

Answer Key

Thursday
1) 9 2) 949 3) 975
ﬂ + 26 -714
63 975 261
4) 36+6= 6
5) Gwen was selling her necklaces at a garage sale. She sold 3 bead necklaces and 4

gem stone necklaces. If each necklace cost 3 dollars, how much money did she

%32;3 One : How many necelaws? D+ =77

Step Two @ How much mmvetj? Tx 3= 2I

6) Round 26,722 to the nearest ten. 7 ;2 ,7 5@
i ) e ‘OQ"%‘UQQ@V\ (‘;2 b 120 and v
K13 15 sinie Q<5 Rowd dowdv)

T) =

o
[ T

{54 Ly
[l

Y O
T T LT

I i
I

Unit

m V
Thousand  Jronded s T

What digit is in the thousands place in the num

8) 9) What time is shown?

If you have 4 blocks that are
the same weight, how many
ounces total do the blocks
weigh? . "
One blockis | o7
1% el 28 B =Yg

10) Gwen was helping her mom cook dinner. If they finished at 3:10 and had spent 1

hour and 55 minutes cooking, what time did they start?

Answers
1, 63
5 975 2
3 261
4 6 =
g
5 21 o
2 26,720 =
7 1
8. 4 oz E
0. 9:38
5
10. 1715 =

www.CommonCoreSheets.com



@__‘ Week 5

Answer Key

Friday
1) Write the shaded amount as a fraction
of the whole.

| Shaded_

e

V? G')ar‘t_i

w

— —t—

What is the location of A (written as a

fraction)?
1 2
AN
7)
7 3 10 10
Amg > B>
7 3 7 3
C10710 P37

D

H—t—bo—lotL -3

1
P

: . 8
the equivalent fraction to /4?

0 1
| N I RS MO (N (| |
| PR S B B e I | 1
0 1

‘/U{ 2'/\{ ‘%{ 'yL[

&

=

8 -
S

. -
2

b
|

6) Write 27/3 as a whole number.

L

\
\

| whole\ Y/

4) Using the number lines shown, what is

Answers

%

[Jue

Zpwg | ppwg | ¢puig | pgyug ' ogiug | qgyug | egyug ' qzyug | egyug

=

1.
2, A
; %
‘. %
5 %
6. 9
7. C
8. history
9, 0
10. C
2
i
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@_' Friday Week 5 continued Answer Key

8) Use the graph below to answer the question: Which subject got the most votes?
10

¢ = 10 = 1

I

Number of Votes
Or=NW AN C0O\D

Shop Reading History Math
Subject
n . X 10)
XXX X @ 00000000
o N
12345 £
D =y Water in an ice tray
ays A. 2 Liters
How many days were more than 6 fish B. 50 Milliliters
caught? C. 0.5 Liter

' D. 2 Milliliters
No cMgs
1 m.(Hl‘ll"]'@«i" \‘5 ‘ ’j"‘ea(‘ OVO()
| liter s a \nt}obra Hask-

roaskes
o0 ~ A Z Hﬂd&bm 5
. 5O ‘ear 0¥
¢,. HalfF a hUM%aSh
. (%= L

D, 2 ‘tear Aopd
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